Upplands BF
IAF fran DM-lagfinal Rond 5:1 2011-03-27

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac  Par Poang Namn MID Klubb
1 11 2.08 Anders Blomé - Ulf Nohrén 13107 2798 Upsala BS
2 12 1.92 Ahto Uisk - Ylva Karlsson-Uisk 2801 2802 BK Fyris
3 10 1.88 Leif Akesson - Orjan Sundholm 2833 2577 Upsala BS - Norrtélje BS
4 8 1.60 Hans Kvick - Bjérn Alenfalk 2878 2828 Upsala BS
5 4 1.45 Thomas lvarsson - Nils-Olof Fridgvist 6659 2875 Upsala BS
6 14 0.93 Robert Larsson - Petter Melin 15346 1075 Upsala BS
7 16 0.46 Per-Ake Pettersson - Olle Morell 9960 2811 BK Fyris
8 15 0.18 Thomas Magnusson - PG Eliasson 3693 2827 Nasby BS
9 2 -0.18 Bo Petersson - Torbjorn Nyberg 11140 12682  Upsala BS
10 1 -0.46 Goran Rangevall - Borje Liljekvist 2876 2874 Upsala BS
11 3 -0.93 Oskar Eriksson - Magnus Melin 81032 26213  BK Fyris
12 13 -1.45 Mikael Gronkvist - Niklas Warne 85230 15344 BK Fyris
13 9 -1.60 Jonas Petersson - Krister Ahlesved 2059 13995  BK Fyris
14 7 -1.88 Marito Karlsson - Christer Enkvist 15214 13719  BK Fyris
15 5 -1.92 Rolf Westman - Ivar Holmquist 2821 2932 Upsala BS - BK Fyris
16 6 -2.08 Frank Westman - Lars Ramquist 2822 80480 Upsala BS
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13 4 44 N+2 5 480 25,0 -25.0|15 2 2NS+1 +6 150 380 -38.0(14 3 44 N-1 8 -50 51.0 -51.0
15 2 44 N+2 48 480 250 -25.0( 5 12 24 N= *J 110 30.0 -30.0| 5 12 24 O= v8 -110  44.0 -440
7 10 44 N+1 ¢5 450 18.0 -180(|11 6 24 N= L} 110 30.0 -30.0({11 6 3¢ V= a7 -110 44.0 -440
8 9 44 S+l vQ 450 180 -180| 8 9 3NN-1 ¢4 -100 70 70| 8 9 24 V+2 &3 -170  33.0 -33.0
11 6 44 N+1 2 450 18.0 -180(14 3 44 N-1 &J -100 -70 70| 7 10 44 O= v8 -620 -43.0 430
16 1 44 S+1 vQ 450 18.0 -180| 7 10 44 N-2 &9 -200 -28.0 28.0(13 4 44 O= v8 -620 -43.0 430
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11 6 3NN+2 a7 660 280 -28.0( 8 9 3NO-1 9 50 39.0 -39.0|11 6 44 N+1 &A 450 19.0 -19.0
14 3 BNN+2 a2 660 28.0 -28.0| 5 12 24 S-1 ¢5 -100 110 -11.0| 5 12 44 N= &A 420 13.0 -13.0
15 2 3NN+2 3 660 280 -28.0( 7 10 INN-1 a3 -100 11.0 -11.0| 7 10 44 N= *A 420 13.0 -13.0
16 1 3NN+1 v6 630 220 -22.0(16 1 INN-1 &J -100  11.0 -11.0|( 8 9 44 N= *A 420 13.0 -13.0
7 10 3NS= v5 600 150 -150(13 4 2vO= *3 -110 110 -11.0|14 3 44 N= A 420 13.0 -13.0
8 9 3NS= v4 600 150 -150(15 2 2vO= v9 -110 110 -110(16 1 44 N= +K 420 13.0 -13.0
5 12 1vDV-1 43 200 -49.0 49.0|11 6 24 S-2 v6 -200 9.0 90|13 4 24 N+1 &A 140 -42.0 42.0
13 4 64 N-2 ¢3 -200 -87.0 87.0(14 3 INDN-3 #J -800 -85.0 85.0(15 2 24 N+1 K 140 -42.0 42.0
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11 6 44 O-3 v9 300 770 -77.0(14 3 5¢DS= &6 550 59.0 -59.0( 5 12 5v S+1 6 480 20 -20
13 4 34 0-1 v2 100 51.0 -51.0(16 1 5¢DS= vJ 550 59.0 -59.0( 7 10 54 N+1 49 480 20 -20
14 3 4v V-1 &2 100 51.0 -51.0(15 2 4vDO-2 T 300 17.0 -17.0| 8 9 44 N+2 43 480 20 -20
8 9 INS-2 +¢K -200 13.0 -130( 7 10 4v O-2 T 100 -19.0 19.0|11 6 44 S+2 48 480 20 -20
7 10 3NO = v9 -600 -43.0 430 8 9 4v 0-2 #A 100 -19.0 19.0(13 4 44 S+2 vQ 480 20 -20
16 1 3NO= 2 -600 -43.0 43.0(11 6 5vV-2 5 100 -19.0 19.0|15 2 44 N+2 48 480 20 -20
15 2 3NO+1 +4 -630 -48.0 48.0(13 4 4v O-1 7 50 -31.0 31.0|16 1 44 N+2 %8 480 20 -20
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11 6 44 N+2 3 680 30.0 -30.0| 5 12 44 S+1 46 450 11.0 -11.0( 5 12 6NS= +8 1440 0.0 0.0
8 9 44 S+1 ¢3 650 240 -240|14 3 44 S+1 &6 450 11.0 -11.0f 8 9 B6NN= &3 1440 0.0 0.0
14 3 44 S+1 &7 650 240 -240|16 1 44 S+1 &6 450 11.0 -11.0({14 3 BNS= &4 1440 0.0 0.0
15 2 44 S+1 92 650 24.0 -240| 7 10 44 S= a4 420 30 -30|16 1 6NN= &6 1440 0.0 0.0
13 4 44 N= +3 620 17.0 -17.0( 8 9 44 S= 46 420 30 -3.0| 7 10 6y N= +5 1430 0.0 0.0
16 1 44 N= +3 620 17.0 -17.0(13 4 44 S= 46 420 30 -30|11 6 6y N= &2 1430 0.0 0.0
5 12 3¢ O-2 &A 200 -49.0 49.0|15 2 44 S= aA 420 30 -3.0|13 4 6y N= +J 1430 0.0 0.0
7 10 64 S-2 v5 200 -87.0 87.0|11 6 24 S+2 &2 170 -45.0 45.0(15 2 6¥Y N= T 1430 0.0 0.0
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